Review of the match against Nuts&Bolts

(only my opinion, I am not an expert with best argues)

Board 1: in the open room opps played 2C=, while in the closed room still opps played 2S+1. The mistake was in the bidding: after the reopening dbl our North replied only 1S with 11 hcps (nearly opening strength), instead of the 2S which would promise 8-12. South, while 1S could be 0, did not raise with 4441 shape, good 9 hcps to 2, so opps could buy the contract too cheaply. Either North had to bid immediately 2S, or South had to raise on 2S (I prefer first version), we had to reach the 2S contract too. Nothing to say about play: 2C and 2S+1 were both cold.  –6 IMPS

Board 2: in the open room we started with multi 2D (as I know this opening; weak 2 in a major is a type of multi), opp overcalled with 2NT (18 balanced both good major stoppers) and made the contract even against good defence (there was a nice unblock with H KJ in order to allow Q to win, because unblocker had not spades yet). In our room opp did not open with a weak 2S-hand, my P started with 1C (too strong for 1NT), opponent the overcalled 1S after my pass (I had Axxx in clubs and nothing else). Dbl, then my 2C (has shown 4+ C-support, but less 5 hcps because did not answered to opening at first), South bidded 2S, then Tomek ended in 3C and went down 2 doubled with a very unlucky 5-0 shape and our weak 4-4 trumps. Could be –1 if the C king would ducked, but needed to know the 5-0 shape for it, which was not real.  –9 IMPS

Board 3: The multi 2D worked: in the open room we started again with 2D multi, the pass or correct answer 2H was followed by takeout double. East misunderstood, and the arteficially bidded D suit was lost: instead of the good 3D response bidded 3H (same length in black suits), and doubler had to choose on too high level, so 4C went two down. In our room opps made a 3rd place opening, then normally found and made 2H+1; we produced a non-standard lead (opps first suit), and because I had 5 with ace, saw 4 diamonds on the dummy, so I continued, thought my P led a singleton. Sorrily not (club lead would be better from KQ), so we immediately let opps two discards. Then we made a bad switch from C to S, so gave another trick for opps. With best defence 2H would go one down, 2 spade, 1 diamond, 3 club losers. +2 IMPS

Board 4: in the open room opponent opened 1D with 4-5 in minors (!) (with the same hand I opened 1C). They reached the 5H after slower bidding as in other room, where our opps jumped to 4S. It was my fault with 0445 hand let them to play (I was aceless and feared from 5H, and thought, we will fail instead of them, if I bid 5H). I thought that with 0 spade they got an ugly distribution, so will go down. Yes, they did, but 5H was cold (even after normal spade lead no defence), so we lost a lot of imps. –10 IMPS.

Board 5: in the open room we started with 1S, followed by 1NT overcall and a little bit brave 2C bid (it was a free bid, 4 hcps only but 6511 shape), and West missed the natural 2D competing, so 2C was played and made with two overtricks. The bidding was same in our room, but Tomek did not miss the 2D, opps were competing with 3C, and I raised 2D to 3 after my 3 passes, so pushed opps to 4C – which went one down (opps played badly, wanted to ruff all heart losers instead of establishing the spade suit, and let us overruff once). +6 IMPS

Board 6: same 4H contract reached. Same lead, first two tricks went to defence (second by a spade ruff). Then 4 outside trumps remained: opps gave a finesse (which lost), we not, so we made, they went one down. 12 imps with some luck. +12 IMPS

Board 7: same 4S=, but… In open room we played well as declarer; in our room declarer failed to win first D with ace, so we had chance for setting them. After C king I had to follow clubs, and if I would do so, then declarer cannot avoid two heart losers even with discarding one from hand. Push board.

Board 8: in open room after 1D-1H-2H sequence opps produced a 3C game try at West (with xxx in spades, Kxx in clubs, 3433 shape… never will understand why needed better support in Kxx 2-losers suit as in xxx 3-losers…). East refused and stopped in 3H, then they went one down. In our room Tomek very well passed after 1D-1H-2H (with 3433 flat hand and while I was a 3rd place opener). Opps made a mistake in defence (underleading the spade Q winner, South forced North to ruff with long trumps their natural spade trick), so they let me make an overtrick.  +5 IMPS

Board 9: in open room we started at South with 1C (16 points, but two doubletons – not enough balanced for 1NT). West overcalled 1D, North produced a negative double, and South jumped on 2H, has shown middle range hand. North’s 2NT confirmed diamond stopper (but only Kx…), so South tried 3NT, which simply failed with established diamond tricks, no way to make. In our room opps began with an undisciplined 1NT (two doubletons), and we overcalled it with Cappelletti 2C – 2D (real suit). North has shown diamond stopper too (2NT), but South was chicken with his unbalanced distribution, and did not bid 3NT – bidded the longest suit 3C, then North with 4-card support passed and they made +1 (with applying rabbi’s rule against our single trump king…). –5 IMPS

Board 10: Opps bidded badly in open room: after a 3rd place 1D opening and 1S immediate overcall they bidded a negative dbl with 4540 (instead of the correct 2H with 5-card major and a good void). They reached 3D and went one down. 1D-1S overcall, then 2H was our bidding; Tomek well passed with Qx support, and I could make (with some help, but it was OK at all with good play against any defence). +5 IMPS

 Board 11: same 4H-1. In the open room opps bidded quite slowly, while in the closed I jumped on game after Tomek’s 1H response. No way to make, automatically 4 losers. Do not know how to avoid this 4H: may be it was only unlucky (nearly mirror hands, no chance for ruffs or enough discards). Push board

Board 12: our bidding mistake… I understand with bidding of opponents in the open room. Correct and good. 1D (longest suit) – 1H (less 17, so weaker as an old-style strong jump shift would show, but 2H sjs would be good too) – 1S (a little bit weak, may be 2S jump considerable too) – 2C (fourth suit forcing; now real suit) – 2S (6/5, because if 5/5, then 1S would be the opening) – 3D (suit preference; for 6-card trump the Qx support is good, they found the fit) – 4NT (RKC in diamonds) – 5S (2 keycards and the trump Q) – 6D, bingo. In the closed room Tomek opened 1S, my 2H is normal, 5+ hearts 11+ points, 3D shows some strength and good diamonds (but not 6!), so with J10xxx in clubs (believed total misfit) I signed off in 3NT. 1S opening confused me, I was not able to find D fit (3D in this bidding promised only 4+ and no place to clear the real shape). 1D opening was essential. And at the end: in the open room we had to double 2C arteficial bid (4sf) with AKQx; Zoran missed it at South (it would have been a good lead-directing double, and we would avoid the overtrick then).  –10 IMPS

Board 13: same 4!H after special raises (may be Bergen, I do not use that). In the closed room opps made an overtrick with elimination of spades. –1 IMP

Board 14: same 3NT+2. In the closed room I tried a preempt (quite very weak 2H opening), but even though this bidding space limit, opps still found the 3NT. Push board.

Cheers:

Thomas Büki = Goreny
